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Instructions to the candidares :

T UYETE § GUE. ¥ U5 WU | 9 S 150 sEa
This question paper consists of Part-A and Part-B, Each part carry 150 marks.

| v s e A e et & e d s |y w0 AT 03
5 aidfie fames § 1 o w02 § v E 100 # T WY i 03 ° v o
300%

-

Fach part of this question paper consists of 03 questions. AN questions are
compulsory. Question No. 02 and 03 have an internal choice. For Question No. 02

word limit is 100 words and for Question No. 03 word limit is 300 words,
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2. eai & w3 o & ferd ST Ay o g5 e e T £ R
sy T § T TR 3R W B 3 E e | w03 TR e S
Iy ar—gm{ﬁm:i?ﬁiﬂwiwé, v & e F fane w & I
mﬁaﬁmnmmﬂh@mwmw 37 et % IO A G S |
ﬁmmmmwﬁmmmamﬁwﬁ |
Answers should be written in the medium which vou have opted in your
Application Form. No marks will be awarded. if the answer is written in any ather
medium. A/l the three questions must be answered, Question should be answered
exactly in order in which they appear in the question paper. Answers 10 the various
parts of the same guestion should he written together compulsorily and answers of
other question should not be inserted between them. Simple calculator alone can be

used in the exam. not the Scientitic one

3, mmaﬁmﬁ,mﬁla-ﬁmﬁm%smﬁwwm
7Y ifeert A E |
The first question is of short answer type consisting of 15 compulsory guestions.

Each one is to be answered m ane or o lines.

4 IS |1 S E E IEE Hawg TEd |

Wherever word linnt has been given. it must be adhered to,

s, gt feedt e el ST N IS R o e T 1 A €, A e &l e
st T § § S we g T
[n case there is any error of printing or factual nature. then out of the Hindi and

English versions of the question. the English version will be tredted as standard.
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Part- A

I fefafas o s ar gt dfsat 5 3w fefed

Write one or two sentences on the following :

Digital Signature

(B) 922

v~ Patent
%

(C) ificswe war >

1,\/ Optical Fibre

(D) FHZET wETE

,vfompmcr Virus

(E) e Geles
\_L'y'br.m Footprints
(F) 4 Teew
Nano robots
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(G) firq-sTs T

Pin-Code System

@ (264)102 = (264)'™ 1 ZwTs W A=

s

Unit digit in (264)'" + (264)"

(m -ALLAHABAD' T= % Tt S-S E ST W] Y HEA

Number of different words made from the leuwers of the word

“ALLAHABAD'

() @
Acid Rain
»-..,/
(K) e
5;1011\-:
(L) A
Lichen

Vit
(M) ST & HefE g3 AR

Firo Standard for Pollution
S
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(N)

()

TR

Kotopes

T (W= AT

Rusting Process

v

1. feefefas o 4 et = wodt 5 S50 = 100 3==1 © 316

Answer any ten guestions i about 100 words from the following :

(A)

(B)

(C)

(D)

(E)

M-2014-111

ERiCE o do o

What is meant by e-governance 7

&7 e u Rt w B g o

What is DNA Finger-printing 7 4

o

T T ] =1 AT E 0
What is Bluetooth technology 7

,r'll
ST AR TH fah % e CSIR WOy g ) -

What is the purpose of CSIR in the field of scientific research and
development ?

T Ter| e w7 € S 9F R W HE S § 0

What is remote sensing technology and how does it work ?

P.T.O.
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(F) Wmﬂ&f%&wmfmﬁﬁ#mmww |

Describe briefly the efforts made by India for environmental protection.

Gy ‘fe=m el T E 7

What is “TRIPS’ agreement ” *~ '

(H) ﬂwqﬁ%a&rﬁﬁ@ﬁmﬁaﬁmﬁm |

Describe briefly the objectives of Bureau of Energy Efficiency (BEE)

(1 ﬂﬁaﬁaﬂtﬁmaﬁﬁﬁmﬂmﬁwnWHmﬂ |

Write briefly about animal and plant cell structure.

() tﬁtﬁtﬁﬁ?mtﬁﬁaﬂﬁmﬁﬁaﬂiﬂﬁ |
b

Discuss briefly Rutherford atomic model, : M

%

(K ﬁﬁﬁﬁﬁrmsuﬁaﬁmm =15 50 HEL & | 5e = # O 6 HIEE
ey T & uﬁm‘rqﬂmﬁwﬁﬁﬁm% | 4 T T 3
e TH1 80 ﬁ.ﬁ.ﬁﬁnﬁaﬁ:m?ﬁfmﬁﬁaﬁ e e
The length and width of a ground is 50 meter each. ThEI'E.'- is a path of
& meter width around the ground. The path is to be covered with tiles. 1f

%the length and width of a tile 1s 80 cm each. then how many tiles are

needed to cover the around !
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mfﬁ?ﬁﬁ?ﬁﬁlﬂﬁf? 10 3 e A 0 FA T 11 % aw fRE | Swe
\ faer wr e

A shopkeeper hought |1 oranges for T 10 and sold 10 oranges for ¥ 11.

Find the percentage gain

3, Frsfefes ool § 9 ol i vt & 9 AT 300 TR H A 0 3% 15 =45

Answer any three questions inn about 300 words from the followings :

(A) URH ¥ fasF ¥ A w aF o geedl UesiEs Seeierdl w8
g |

Jﬁcnhe major historical achievements in India in the area of science

and technology,

(B) Tt Trqreer & = wwrs diEEl v faen § aue i |

Discuss in detail the new emerzmyg technologies of enerzy production.

(C) 2 WEE w7 oEe T W W 14 W 0 A & Sl 3 R o
g #E% 39 FH W || B H O & | a0 w8 A a9 6 WES I
& A T 1 &1 e e ° 9w A
2 men and 7 boys complete a work in 14 davs. while 3 men and 8 boys

complete the same work in 11 days. Find that 8 men and 6 boys will

complete three times of that work in how many days.
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(D) ﬁﬁﬁﬁﬁaﬂﬁﬁdﬁﬂﬂﬂﬁmﬁﬁﬂﬁﬁﬁWﬂﬁﬁﬁﬁ?ﬁﬁﬁﬁ
ﬁ%ww%mm%m#ﬁﬁnﬁﬁﬂﬁﬁw%hﬁméﬁﬁm

=7 Wi frar e & |mﬁmmﬁmm?¢aﬁ?ﬁﬁﬂ:

R [P
Taferean s 49%
Esspita 16%

EIEIESIE] 36%
) | . o
| R T 50%
-
| T 19%%
i = S -

A T 7

(i) e S § ST F o W A Shafw § g F
e ¥ feeT ST E?

(iii) éﬁhﬁﬁﬁéﬁﬁaﬁﬁ?ﬁmﬁmsﬁmﬁaﬁaﬁm
T S B 8 ?

(iv) Wﬁmﬁmmﬁﬁﬁﬁmmwm%?

(v) mﬁ#ﬁﬁmaﬂﬁaﬁaﬁﬁﬁm,m?ﬁhﬁﬁaﬁﬁ
AE F1 o1 HEs! I e He # 2
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O The distribution of fotal 45000 students in different branches of Science
is given in the following Pie-chart. and the percentage of girls in
different branches of Science is given in the following table. Read
carefully the following Pie-chart and table. and answer the questions

therein.
Field | Percentage of girls
i Medical Science 49%
Compuier ks _
“‘I';E“‘ Engineering 16%
| Biology 36%
| Computer Science 50%
‘ Chemistry 19% J

(i What is the ratio of number of boys in Engineering branch io total
number of all boys 7

(ii) What is the difference in total bovs in the branches of Medical
Science and Biology Q2L % “ng'g

(iii) What is the ratio of total boys and girls in the branch of
Engineering

(iv) What is the percentage of girls in Chemistry among the total
number of students !

(v} What is the percentage of total number of girls to total number of
hoys in different branches of Science 7

1 & 7 T TR ) AREEY | §9h (A & o HROT 79
¥ IUET & G g | -

(E)

What is Bio-diversity ? Explain its importance. Describe the reasons of
its extinction and steps for its conservation.

M-2014-111 P.T.O.
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Part- B

| F=AierEs s gt dfe § 36 e 15%3=45

Write ome or two sentences on the following ;
(A) &1 T ST

What is devaluation of currency !

{B) "Hﬁmqa?ﬂrr—{m T | fade ey |

\/)imnguish between privatization and liberalization,

(C) ek faeeor o & W@ eva =7 & 0

What are the main objectives of public distribution system ?

(D) & G =7 newy T A 0

What is the concept of food security ?

b

(E) wow e # ue e s g o

— What is the main function of mutual funds ©

(F) ¥ =2 o v fyma e &0

How is revenue deficit determined ?

(G) =< o gy 347 & 0
What is migro financing ?
M-2014-111




(H) % 3 e = g € 7

What is cash subsidy ”

(1) =F dhg ot e s wn A E

How is value added tax levied !

(1) e e § e a1 € 2 %

What is included in retail banking 7

(K) Tamiaa gt 3 ST 1 % wegd wl "ad |

State the concept of unemployment in developed countries

(L) e e § s e S E o

What are the non-commercial energy resources in India ?

(M) Wﬁmﬁ*?rﬁmw%ﬁﬁm.ﬁqﬁﬂmmﬁ%?

What are the agencies involved in offering short term cooperative

credit 7

(N) 7% Forer 68 3 & e i B A

What are the agencies exclusively involved in housing finance sector

(0) éﬁwmﬁmwmmﬁmﬁwrwwaﬂw%?

©On which items of social sector. Central Government spends in its

budget ?

M-2014-111
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2. TpefeaiEe uet & 397 S 100 9T H Siew 10 % 6 = 60

Answer the following questions in about 100 words each :

(A)

URA H TS HE FHA S W H Fw |

y{r: the limitations of national income estimation in India,

(B)

AEETOR
oo sredere & w0 o uRdE s B s v w4
€7
What are the basic characteristics of the Indian economy as developing
economy !

/ﬂuw 15 human development dex calculated 7

()

(D)

M-2014-111

AETOR

Oa O g S wm ds AR e e F

What are the major problems of transport development in India ?
jorp p I

T GBS § §5F g & He & G055 |

State the importance of road transport in the economy of Madhva
Pradesh.

aEgEt/OR

T TR H & AT % faswn W us s o e
Write a brief note on development of air transport in Madhxa Pradesh.
/.
3t faene &1 01 4 $ T WiTeT = 0
What is PURA muodel of economic development

FYEOR
g # [t % &3 @l faewm S |

Discuss the scope of privatization in India.

4
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(E) e & Aveieror oy o 1 € 2
What is impact of globalization in India 2
AETOR
Wmﬁwrwmmwwmﬁmﬁfﬁﬁiﬁ |

Write a brief note on incidence ot poverty among rural households.
e
(F) e TR T % g i e i |
Discuss the issue of quality of employment in India.
IEOR
e i, 2002 % W@ TEET S AT |

State the main provisions of Competition Act, 2002,

(G) T W Y semaE § F & e 5 a0 |
State the importance of agriculture in the economy of Madhya Pradesh.
FeETOR
e e T AT e T o s e fefad |

Write a brief note on Mid-Day Meal Programme in Madhya Pradesh.

{(H) mw#h&aﬁmﬁﬁéﬁﬁ;mﬂﬂm I

State the contribution of € ommercial banks to rural credit.

IETOR
ST ST & HE § areas S5 g Se v i Hie I

FHE |

Narrate briefly the recent intiatives undertaken by Commercial banks
with respect to deposit mobilization. =

M-2014-111 P.T.O.
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() ™= w291 § g A & adae R o ey |

State the current position of money market in Madhva Pradesh.

FTETOR
WRATE e A O Ay § g sl s wasd |

State the major defects in Trading in Indian Stock Exchanges,

(J) ST 33 A 5 wEEy e we foah fefiad |
Write a brief note on working of Unit Trust of India,
FOETOR
1991 % 3nfies Hur & uverE uA % wEAEE s w5 i aaey |

Cirve the status of India’s public debt after 1991 economic reforms,

TIEATATER WoET &7 3T T 300 $EE) § ®ie Ix15=45

[

Answer the following questions in about 300 words :
(A) WA T E H U A TSR R w5 S S S |
Critically evaluate the issues of buffer stock and food security in India.
HEETOR

O H {9 FEAEA U geeT U U ey g |

Wrife uan essay on regional imbalances and migration in India.
M-2014-11




{B)

1y

15

YA AEET F aaaH gEted @ s ek S | 56
gy o S0 el i wad |
Critically evaluate the current trends of Indian Economy. Also state your
suggestions in this regard.

FOET'OR
i & % ol ue ud g a9 TETE | T a1 8 7

What are the problems of direct and indirect subsidy for agricultural

; ]

sector”
H |

Critically evaluate “Mahatma Gandhi National Rural Employment
Guarantee Act”™,

IEETOR

A T ST F o F1 faaee S | R i dw, e @ | Giva
v faem & T A, 2015 SR B FEAT B GHYE HT G0
7

Discuss the problem of unemployment in India. To what extent. the
recently proclaimed National Policy on Skill Development, 2015 can
tackle the problem of unemployment ?
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